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3. Theorem: A parallelogram with four right angles is a rectangle. Using the - 18 2
theorem, prove that Quadrilateral 1 is a rectangle.
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4. Definition: A rhombus is a parallelogram with all sides congruent. Using the
definition, prove that Quadrilateral 1 is a rhombus.
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5. Definition: A square is a rectangle and a rhombus. Using the definition, is Quadrilateral 1 a square? Why?e

0, b ol onglm aer 0t and all eco
I arke conguonl

6. Theorem: The diagonals in @ rhombus are perpendicular. Prove that the theorem is true for Quadrilateral 1.
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Quadirilateral 2: Plot and label each point. A(-5, -3), B(7, 9), C(é, 3), and D(1, -2).

8. Definition: A trapezoid is a quadrilateral with one pair of opposite sides that are parallel. Using the definition of
trapezoid, prove that Quadrilateral 2 is a trapezoid.
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9. Definition: An isosceles trapezoid is a quadrilateral with one pair of E // - ]
opposite sides congruent. Using the definition of trapezoid, prove that ol i
Quadrilateral 2 is an isosceles trcapezou;i 7 g i % 2=
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10. Theorem The diagonals in an isosceles rrapezord are congruem‘ Prove = = £ BEO
that the theorem is true for Quadrilateral 2. 4
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/13. Theorem: The diagonals of a kite are perpendicular. Prove that the —f
~ theorem is true for Quadrilateral 3. I 4 P O .; , :
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14. Quadrilateral 4: Plot and label each point. A(-1, 3), B(3, 1), €(1, -2), and D(-3, 0).
pair of opposite sides that are parallel. Using the definition of

15. Definition: A parallelogram is a quadrilateral with two
a parallelogram, prove that Quadrilateral 4 is a parallelogram.
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16. Definition: A rectangle is a parallelogram with four right angles. Using A
the definition of a rectangle, prove that Quadrilateral 4 is NOT a Ny /
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17. Definition: A rectangleisa parallelogram with congruent diagonals. Using the definition of a rectangle, prove that
Quadrilateral 4 is NOT a rectangle. \[.- * r
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definition: A square is a rectangle and rhombus. Using the definition, is Quadrilateral 5 a square? Why?
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23. Theorem: The diagonals in a rhombus are perpend:cutar Using the iheorem is this frue for Quadrilateral 52 } ;ﬁ-r‘_
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24. Quadrilateral é: Plot and label each point. A(-3, 0), B(-2, 3), C(4, 1), and D(3, -2).

25. Definition: A parallelogram is a quadrilateral with two pairs of opposite sides that are parallel. Using the definition

of a parallelogram, prove that Quadrilateral 6 is a parallelogram. & #;‘:ﬁ F
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26 Definition: A parallelogram with 4 right ong.'es is arectangle. Using R & il
the definition, prove that Quadrilateral 6 is a rectangle. s p—a —
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Th@ diagonals in a rectangle are congruent. Prove that
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